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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1  Write down the value of the 3 in the number 4376

\L"‘\ 300

(Total for Question 1 is 1 mark)

2 (a) Write % as a decimal. C + " \ 6)

\h‘“\%\‘ O-433F5 -

(Total for Question 2 is 1 mark)

3 Here is a list of numbers

4 7 9 25 27 31 64

From the numbers in the list, write down a cube number.
2 —3 = . [
@9 \ 2F = 3kZx3 =13 . ’Ha e
? 64

Rt x4t =4 (Total for Question 3 is 1 mark)
4 Find the value of (2.8 — 0.45)* +3/5.832

o - (235) «{5.33¢2
X = 5.5225 + 1.8 =7F.3205
e Ch

\1

)|

=232 D?)

(Total for Question 4 is 2 marks)
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5 There are some boys and girls in a classroom. 1” (qir l ) + tChb LJ )

The probability of picking at random a boy is % 2 P C S ord) =1 —

What is the probability of picking a girl? _§ = | = %
\ﬁ —— 3 _ ,J
@-Lo e
o
(Total for Question 5 is 1 mark) E

6 Jan writes down

one multiple of 9
and two different factors of 40

Jan adds together her three numbers.
Her answer is greater than 20 but less than 30

Find three numbers that Jan could have written down.

*\% roltiples %C( S Y R Cr O

1

e dues ‘bL 4o . ril' ‘(’Q, r?_l ZQ) 4) lL‘)} gl \g
(gj l, 2, |2 (L 42 18 = 21
toheaa (s et e

(Total for Question 6 is 3 marks)
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7 ABCD is a square.
This diagram is drawn accurately.

i :*LY--LVLL
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- le &
4‘()(\@) ("“?) 4
4 4 \ = ,EE’
- oL DA
s m £ F s (Total for Question 7 i§ 2 marks)
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8 Sam and Max work in a shop from Monday to Friday.

Sam draws a graph to show the number of TVs they each sell.

S

P
S

ay Thursday Friday

Monday Tuesday  Wednesd

Write down three things that are wrong with this graph.

2\( OKIS. o edoe )l pisst 2 T —— ,

(Total for Question 8 is 3 marks)

9 Here is a list of numbers
Pt /H/ P Bt I

Find the median.

g ; T, | - =R
@'\I \\}\2,)»2_.}\2,)[1,’5‘_})&5) 15)\ch1
/’,\

(Total for Question 9 is 2 marks)
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10 (a) Rob buys p packets of plain crisps and ¢ packets of cheese crisps.

Write down an expression for the total number of packets of crisps Rob buys.

(1)
(b) Solve 3x-5=9
O +’-5_—\) @v‘lc .
“\ & 2 = L4
N
—3 =3
= 14 (2)
3

(Total for Question 10 is 3 marks)

11 Adam says,

“When you multiply an even number by an odd number
the answer is always an odd number.”

(a) Write down an example to show Adam is wrong.

Betty says,

“When you multiply two prime numbers together
the answer is always an odd number.”

(b) Betty is wrong.
Explain why.

e B AR =
2w a mbo“tb\ Pf”\m@, bot 6 B oo

(Total for Question 11 is 3 marks)
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12 You can use the information in the table to convert between ki res and miles.
9 miles 0 5/ 20 40 15 oniles
kilometres | 0 8 | 32 64 :
W \_/
(a) Use this information to draw a conversion graph.
+%
F 3
0 {
//’—\/\1 ! )
F
A
-
{i
4
Y
7
kilometres | S o ";
= |
- »
mEEEEE
EEELY.
et 4
10 20 30 40 50
/(' miles
Iz =13
miles (3)
(b) Which is further, 20 kilometres or 15 miles?
You must show how you got your answer.
20\ ® |2 —\3 oile @
O — s ~'\es = 22—24 K= (2)
7 : 5 ,
/ '1‘\ LS es s for H"‘:'f’TTotal for Question 12 is 5 marks)
7/ =
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Pearson Edexcel Level I/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015 ”
© Pearson Education Limited 2015



C

ABE and CBD are straight lines.

Show that triangle ABC is an isosceles triangle.
Give a reason for each stage of your working.
——

(Vertiely opeosile congles are

(j ez;_\o.'t)

@@C,B - go - (So L gs) (o_hﬁ\cj K @\ﬂ—r;m?m

| ) at
\g C; . 156" add up +o \¥0
= ..__—”’—'”'-/___,/_—"_——M
(—3&(_'6: Cv™ 13 = %GO CEaSe -:mj\c_s Od_‘

ocv~ dogce le —'hri‘wﬁc,
/k\»"o Q’%M \M) e ez uw»\; ) -
No  AB( be
15050210} -

(Total for Question 13 is 4 marks)

%(\r\/ovétg\vwz ol S ranma i

e ondarlind. Words wiitien o gt the
COW\IN\UV\\\CMG\/\ MGrA.
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14 The diagram shows a tank in the shape of a cuboid. .‘ \ (“
It also shows a container in the shape of a cuboid. o
20 cm
60 cm Tank
Container
70 cm
40 cm
50 cm 80 cm
The tank is full of oil.
The container is empty.
35% of the oil from the tank is spilled.
The rest of the oil from the tank is put into the container.
Work out the height of the oil in the container.
Give your answer to an appropriate degree of accuracy.
Tank ozlome S50 % 40 ¥ o = | 2o 000 (\ \"\/\G\\ffc)

257-Gd’ﬂ~e_ o:l'-g’“"*" e cobord \'Z cooe x0-BS

= &4 Zooo

Reveve. 35 ‘f'.od- otl fw~ comerd 12 00660 - 42400

il

T B0 o

M‘tsﬁtr\) \chO-HA t+ 8co o “~ (3¢ % ?o) = 1%3.92. 8

= 15/ P)
(Total for Question 14 is 5 marks)

Iy
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15 The diagram below represents two towns on a map.

"4

Scale: 1 cm represents 3 kilometres.

Diagram
accurately drawn

X
Towey

X

Worsley

Work out the distance, in kilometres, between Towey and Worsley.

Q,g@ Gem x 3 their lugth x 3 @

5x3
&)

5emiOlom
o ~ L |
W OlMﬂ) o \L‘. ‘\“(/\ug\(Total for Question 15 is 2 marks)

16 Find the Highest Common Factor (HCF) of 24 and 60

S 2 1,242,138, k6
k J—
6oy 1,60, 2,30,3,20. k15,5, 12,610

8
(D sers to Wit faos

Q@ wr‘ltt%
“iter AL s 2°x 3

R 60<2’x3x5

2

(Total for Question 16 is 2 marks)

R Qiveo 2,2, by b an thas ansiey.

A

Ve 7(3(\%0’[6 8W9A
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17 Soap powder is sold in three sizes of box.

2 kg 9 kg

£8.46

£1.89

A 2 kg box of soap powder costs £1.89
A 5 kg box of soap powder costs £4.30
A 9 kg box of soap powder costs £8.46

Which size of box of soap powder is the best value for money?
You must show how you get your answer.

1922 = 0.94¢
430 = 0.56
3.66+9= 0.9

(Total for Question 17 is 3 marks)
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18 f=5x+2y

x=3andy=-2 ‘f‘: €x3 + 2"(’2)

Find the value of 1.

- 15 -4
=21
(Total for Question 18 is 2 marks)
19 Jane made some almond biscuits which she sold at a fete. ‘“@ 3ﬂ
She had: :
5 kg of flour
3 kg of butter
2.5kg of icing sugar
320 g of almonds

Here is the list of ingredients for making 24 almond biscuits.

Ingredients for 24 almond biscuits

150 g flour

100 g butter
75 g icing sugar
10 g almonds

Jane made as many almond biscuits as she could, using the ingredients she had.

Work out how many almond biscuits she made.

-flour &ka = (-oooa 000+ (§0 = 33"%’

Ba'l‘fel' Skg = Soooz 3000 - /60 = 30
dewg  2.6kg: 2000 2600 37€ = 334

Admerd 320 €30 * to = 32
e Adber

i ; 3ox24
94 J&’C‘u{ ts . (Total for Question 19 is 3 marks)

\
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3f +9

20 (a) Factorise 3f+9

:3(_{+§) ........................................... |

(b) Factorise x?—2x-15

x? -2-1€
= X- §xX +3XxX -I§

= C.X"g ) X +;a‘otal for Question 20 is 3 marks)

- X (X-$)+3(X-8) o

P/r P=I‘1-I‘S

P=r (3"8)

(Total for Question 21 is 2 marks)

rg-s)=p  PEprosr,

Y
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22 A tin of varnish costs £15 Il m

A rectangular floor has dimensions 6 m by 11 m.
The floor is going to be covered in varnish. 6 m

Helen assumes that each tin of this varnish covers an area of 12 m?.

(a) Using Helen’s assumption, work out the cost of buying the varnish for this floor.

Area of Ao = 11x 6
= 6 m?
offjlz = )12m’ = €% -tm;)(
r :6\ -61\1. e
%M :51 = 6 fm,f £

(4)

Helen finds that each tin of varnish covers less than 12 m?.

(b) Explain how this might affect the number of tins she needs to buy.

_________ SAa {  need Ao A

nS AL ea AL ten doesn’e
covel (2 m* W

(Total for Question 22 is 5 marks)
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23 Frank, Mary and Seth shared some sweets in the ratio 4 : 5 : 7 M‘NO‘ b \01

Seth got 18 more sweets than Frank.

Work out the total number of sweets they shared.

Seth : frank 1-4 =3
1 4

18 +3 =4 pepe 'P"“
4+&+7 =16 parts a/eo’eﬁéu'
6)( 1 6 =?6

(Total for Question 23 is 3 marks)

24 PQR is a right-angled triangle. “ \ 6%
s M

14
cm 5cm

R 0

Work out the size of the angle marked x.
Give your answer correct to 1 decimal place.

Sin X = 5

X = 20.924%
] 209

(Total for Question 24 is 2 marks)

B
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25 Here are the first four terms of an arithmetic sequence.

(2 16
6 10 14 18

) (&) Wit an cxpression, in terms of , or the nth term of this sequence.
oddvgy b eaeh Tme = b @
2 bioper thon the multyleo &
AW cwo

len +2
(2)
The nth term of a different arithmetic sequence is 3n + 5

(b) Is 108 a term of this sequence?
Show how you get your answer.

A+ 5= 108 @
3N — lO:Dv
N = 3[—{-‘3

N 1S NOT o Whole NV MO (éj)
log 1 NoT in the Neovnce. - o

(Total for Question 25 is 4 marks)
o BUNR = 343 +5- [0
3 5™ fem = Bx35¢5 = 1O
1+ Mages out 10§

S0
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26 Axel and Lethna are driving along a motorway.

They see a road sign.
The road sign shows the distance to Junction 8
It also shows the average time drivers take to get to Junction 8

To Junction 8
30 miles
26 minutes

The speed limit on the motorway is 70 mph.
Lethna says
“We will have to drive faster than the speed limit to drive 30 miles in 26 minutes.”

Is Lethna right?
You must show how you get your answer.

2V ™ ethod 1 .
Q\\)\\k 26mnms = 30 males

fonin =3 30 - |.153%.. mibs

26

. 601\/\»\\!\ 3 30;(60 69- 23 mily
g)ou(\eedi‘» b af 69.23 mfw s0 Do

Ledna As WG ) You OV dovwt howe 10 oU\UP/OLMM(
@ dron e Apad Lt -

M Ml, - (Total for Question 26 is 3 marks)

YomM _ 60mins=p F0 ml
(00 1min = 30~ (] 666 e
26m‘w\ =3 é—_\ﬁﬁ@:BO&SWhﬂ
0
0 NO, YoV Con cover 3033 Ml 1 ol

5

Lot o ()
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| Foot length (f cm) Number of adults ™M MxXn
Cl6<f<18 3 51
‘xt'\ o | | L.
(0] 18<f<20 6 19 |\IG
< f<2 10 2l (210
n<f<u 12 23 2%
24 < £<26 9 285 |128

27 The table shows some information about the foot lengths of 40 adults.

(a) Write down the modal class interval.

(b) Calculate an estimate for the mean foot length.
g L \
g6 ~ 4tO

@ Ué\ idpounks &

Ltu()% b& No.dt adwlts 219

(3)

(Total for Question 27 is 4 marks)

e

) depm St 336 710
A

theat

Worlbives oot i Sean| &

e 11 With no  orlvug  Sores I\/OWOA@

[21-9 afolmdcscuk Zmorhs] s
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28 Triangles ABD and BCD are right-angled triangles. N“ 0 o~
y \%” "\ g0®
o{
£ 550 10 cm
-
B D) D
Xxcm 4 cm

C

Work out the value of x.
Give your answer correct to 2 decimal places.

10 = 10O O
£ 5 25 } P

fd;
(Total for Question 28 is 4 marks)

oo 9:53 - 9.5k nclugue

[Noh:. Lt pp 2cem AU 1K L5 o Numbed,
== .
A0 no uwity reguired ; Gut do not dorop o

7

MMK§J°LSWUMJ
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29 Here is a probability tree diagram.

¢ game A game B
*\6\ : win

game B
win
game A
lose
game B
win
; game B
ose
game A

lose
game B

Work out the probability of winning both games.

02 x 05
W 3((/\( wﬂﬁg 0.2 o%dO3

(Total for Question 29 is 2 marks)

TOTAL FOR PAPER IS 80 MARKS
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